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ZESTAWIENIE STALI ZBROJENIOWEJ
5 |12 426 50 213,0
8 |12 446 156 695,8
4 |12 510 43 219,3
53 [ 12 150 180 270,0
5 |12 592 13 77,0
51 8 40 60 240
W 50 |12 140 63 88,2
= 49 |12 584 20 116,8
S 4 1 220 | 108 2316
= |4 |12 150 125 187,5
46 |12 250 125 312,5
45 8 48 180 86,4
4 |12 286000 mb 2860,0
43 |12 148 189 29,7
42 |12 518 189 979,0
4 |16 190 316 | 600,4
g | Dlug. | losc AN
fem, Poz. | 1 o | o |61 2 0] g8
mm ) Dlugos¢ m
Razem m 6004 | 65364 0,0 110,4
Masa jedndstkowa kg/m 1,98 0,388 0,617 | 0,395
Razem kg 948,6 | 5804,3 0,0 43,6
Ciezar stali oqdtem kg 6796,5
Wykona¢ 1x 1 x 6796, = 6796,5
projektem architektonicznym.
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